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QUESTION 1

What is the endpoint of a VXLAN tunnel? 

A. DLCI 

B. VTEP 

C. LSR 

D. VCF 

Correct Answer: B 

 

QUESTION 2

When using EBGP as the underlay protocol for your IP fabric architecture, which two statements are true? (Choose
two.) 

A. Spine nodes only peer to leaf nodes. 

B. Leaf nodes peer to both spine and leaf nodes. 

C. Leaf nodes only peer to spine nodes. 

D. Spine nodes peer to both leaf and spine nodes. 

Correct Answer: AC 

 

QUESTION 3

You have deployed two data centers that require a Layer 2 stretch between host1 and host2. 
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Referring to the exhibit, what does a Layer 2 stretch require? 

A. a VXLAN tunnel originating on the Super Spine Layer in DC1 to the Super Spine Layer in DC2. 

B. a VXLAN tunnel originating on VTEP1 to VTEP2. 

C. a VXLAN tunnel originating on the Spine Layer in DC1 to the Spine Layer in DC2. 

D. a VPLS WAN connection between data centers. 

Correct Answer: B 

 

QUESTION 4

Which two statements describe EVPN-based VXLAN implementations? (Choose two.) 

A. The movement of a virtual host requires a manual reconfiguration of the VTEP. 

B. The movement of a virtual host results in the dynamic remapping of the VTEP. 

C. MAC addresses are learned using multicast flooding. 

D. MAC addresses are propagated using BGP updates. 

Correct Answer: BD 

 

QUESTION 5

In the exhibit, VM1 is part of the same VXLAN segment as VM3. 

Which type of message will R1 initially send to R2 so that VM1 receives BUM traffic from VM3? 

A. IGMP Join (S,G) 

B. PIM Join 
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C. IGMP Join (*,G) 

D. PIM Register message 

Correct Answer: B 
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